

The Poisson Operator for Orthogonal Polynomials in the Multidimensional Ball

Óscar Ciaurri

Received: 5 September 2012 / Revised: 31 January 2013 / Published online: 24 May 2013
© Springer Science+Business Media New York 2013

Abstract In this paper we define the Poisson operator related to an orthonormal system on the multidimensional ball and we analyze some weighted inequalities for this operator in mixed norm spaces.

Keywords Poisson operator · Mixed norm spaces · Weighted inequalities

Mathematics Subject Classification (2000) Primary 42C10

1 Introduction

Let B^d denote the unit ball in the Euclidean space \mathbb{R}^d for $d \geq 2$. The classical orthogonal polynomials in B^d can be defined with respect to the weight function

$$W_\mu(\|x\|) = (1 - \|x\|^2)^{\mu-1/2}, \quad \mu > -1/2, \quad x \in B^d,$$

where $\|\cdot\|$ denotes the usual Euclidean norm. For $n \geq 0$, let \mathcal{V}_n^d be the space of d -dimensional polynomials of degree at most n . There are some different orthonormal basis for \mathcal{V}_n^d (see [8, Chap. 2]). One of them is given by

$$P_{n,j,\beta}^{d,\mu}(x) = (C_{n,j}^{d,\mu})^{-1} p_j^{(\mu-1/2, n-2j+\frac{d-2}{2})} (2\|x\|^2 - 1) S_{\beta, n-2j}(x), \quad 0 \leq 2j \leq n,$$

Communicated by Fulvio Ricci.

Research of the author supported by grants MTM2012-36732-C03-02 of the D. G. I. and COLABORA2010/01 of La Rioja government.

Ó. Ciaurri (✉)

CIME and Departamento de Matemáticas y Computación, Universidad de La Rioja,
Edificio J. L. Vives, Calle Luis de Ulloa s/n, 26004 Logroño, Spain
e-mail: oscar.ciaurri@unirioja.es

where $p_j^{(a,b)}$ is the Jacobi polynomial of degree j and order (a, b) ,

$$(C_{n,j}^{d,\mu})^2 = \frac{\Gamma(j + \mu + \frac{1}{2})\Gamma(n - j + \frac{d}{2})}{2(n + \mu + \frac{d-1}{2})j!\Gamma(n - j + \mu + \frac{d-1}{2})},$$

and $\{S_{\beta,k}\}_{0 \leq \beta \leq d(k)}$ is an orthonormal basis of homogeneous spherical harmonics of degree k (we use $d(k)$ to indicate the dimension of this set). The Jacobi polynomials that we are considering are defined by

$$p_j^{(a,b)}(x) = \frac{(-1)^j}{2^j j!} (1-x)^{-a} (1+x)^{-b} \frac{d^j}{dx^j} ((1-x)^{a+j} (1+x)^{b+j}).$$

They are orthogonal in the space $L^2((-1, 1), (1-x)^a (1+x)^b)$ and verify that

$$\begin{aligned} & \int_{-1}^1 p_j^{(a,b)}(x) p_n^{(a,b)}(x) (1-x)^a (1+x)^b dx \\ &= \delta_{j,n} \frac{2^{a+b+1} \Gamma(j+a+1) \Gamma(j+b+1)}{(2j+a+b+1)j! \Gamma(j+a+b+1)}. \end{aligned}$$

The family of polynomials

$$\{P_{n,j,\beta}^{d,\mu} : n \geq 0, 0 \leq 2j \leq n, 0 \leq \beta \leq d(n-2j)\}$$

is orthonormal and complete in $L^2(B^d, W_\mu(\|x\|))$. Moreover these polynomials satisfy the relation

$$\mathcal{L}^{d,\mu} P_{n,j,\beta}^{d,\mu} = \left(n + \mu + \frac{d-1}{2}\right)^2 P_{n,j,\beta}^{d,\mu}$$

with

$$\mathcal{L}^{d,\mu} f = -\Delta f + \sum_{i=1}^d \frac{\partial}{\partial x_i} x_i \left((2\mu - 1)f + \sum_{\ell=1}^d x_\ell \frac{\partial f}{\partial x_\ell} \right) + \left(\frac{d+1}{2} - \mu \right)^2 f.$$

Fourier expansions for orthogonal polynomials on the ball and on the simplex have been widely studied in the last years, see [6] and the references therein. In other domains (parabolic biangles, hexagonal and triangular domains or cylinders), the analysis of Fourier series is a more recent topic, see [15–17].

Our target in this paper is the analysis of the Poisson operator related to the orthonormal system $P_{n,j,\beta}^{d,\mu}$. This operator is defined in a spectral way by the identity

$$P_t^{d,\mu} f = e^{-t\sqrt{\mathcal{L}^{d,\mu}}} f.$$

Then for an appropriate function f ,

$$P_t^{d,\mu} f(x) = \sum_{n=0}^{\infty} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \sum_{\beta=0}^{d(n-2j)} e^{-(n+\mu+\frac{d-1}{2})t} a_{n,j,\beta}(f) P_{n,j,\beta}^{d,\mu}(x),$$

where

$$a_{n,j,\beta}(f) = \int_{B^d} f(t) \overline{P_{n,j,\beta}^{d,\mu}(t)} W_\mu(t) dt.$$

Several authors have studied the Poisson operator for different orthonormal systems. In the case of the simplex (where a product of Jacobi polynomials of different orders appears) a first approach to the problem was done in [3]. In this setting, the problem has been analyzed more recently in [11, 12]. In some way, we will follow some of the ideas used in these papers but properly adapted to our context.

The most adequate spaces to analyze the convergence of the Poisson operator $P_t^{d,\mu}$ are the mixed norm spaces. Given a non-negative function w , we will consider the weighted mixed norm spaces

$$L_{\text{rad}}^p L_{\text{ang}}^2(B^d, w(\|x\|)) = \{f : \|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, w(\|x\|))} < \infty\},$$

with

$$\|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, w(\|x\|))} := \left(\int_0^1 \left(\int_{\mathbb{S}^{d-1}} |f(rx')|^2 dx' \right)^{p/2} r^{d-1} w(r) dr \right)^{1/p}.$$

These spaces are used in harmonic analysis when spherical harmonics are involved. For example, they appear in the analysis of the disc multiplier and the Bochner-Riesz means for the Fourier transform [4, 5, 9, 10, 14]. Mixed norm spaces have been also used to treat the mean convergence of the Fourier-Bessel expansions in the multidimensional ball [2].

In these spaces, the boundedness of the Poisson operator will be reduced to a vector-valued inequality for the Poisson operator related to the Jacobi polynomials. In order to obtain this inequality we will need a very precise control of this operator in terms of all the parameters involved. The main estimate will be done by means of an improved version of a result in [13, Lemma 5.8], also used in [12].

In our first result we show a uniform weighted inequality for the Poisson operator. To this end we consider weights in the Muckenhoupt A_p class. Taking into account that we will reduce the inequality to an estimate for the Hardy-Littlewood maximal function on $(0, \pi)$ we give some definition properly adapted to our setting. A non-negative locally integrable function w on $(0, \pi)$ belongs to $A_p(0, \pi)$, $1 < p < \infty$, when

$$\left(\frac{1}{|I|} \int_I w \right) \left(\frac{1}{|I|} \int_I w^{-\frac{1}{p-1}} \right)^{p-1} \leq C, \quad I \subseteq (0, \pi).$$

Being M the usual Hardy-Littlewood maximal function on $(0, \pi)$, i.e.,

$$Mf(x) = \sup_{r>0} \frac{1}{|\mathbf{B}_r(x)|} \int_{\mathbf{B}_r(x)} |f(y)| dy,$$

with $\mathbf{B}_r(x) = \{y \in (0, \pi) : |x - y| < r\}$, it is well known that

$$\left\| \left(\sum_{k=0}^{\infty} Mf_k^2 \right)^{1/2} \right\|_{L^p((0,\pi),w)} \leq C_{p,w} \left\| \left(\sum_{k=0}^{\infty} f_k^2 \right)^{1/2} \right\|_{L^p((0,\pi),w)}, \tag{1}$$

for each weight $w \in A_p(0, \pi)$.

With the previous notation, the first result that we prove is the following

Theorem 1 Assume that $d \geq 2$, $\mu > 0$, $1 < p < \infty$, and let u be a non-negative function on $(0, 1)$, and

$$U(\phi) = (\cos \phi/2)^{2\mu-\mu p} (\sin \phi/2)^{d-1-p(d/2-1/2)} u(\sin \phi/2).$$

If $U(\phi) \in A_p(0, \pi)$, then

$$\sup_{t>0} \|P_t^{d,\mu} f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, u(\|x\|)W_\mu(\|x\|))} \leq C_{d,p,\mu,u} \|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, u(\|x\|)W_\mu(\|x\|))}.$$

As a standard consequence of this, we have

Corollary 2 Assume that $d \geq 2$, $\mu > 0$, $1 < p < \infty$, and

$$\max \left\{ \frac{2d}{d+1}, \frac{2\mu+1}{\mu+1} \right\} < p < \min \left\{ \frac{2d}{d-1}, \frac{2\mu+1}{\mu} \right\}. \tag{2}$$

Then

$$\sup_{t>0} \|P_t^{d,\mu} f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, W_\mu(\|x\|))} \leq C_{d,p,\mu} \|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, W_\mu(\|x\|))}.$$

Of course, we can also deduce the convergence $P_t^{d,\mu} f \rightarrow f$, $t \rightarrow 0$, in the $L_{\text{rad}}^p L_{\text{ang}}^2(B^d, W_\mu(\|x\|))$ -norm in the range of p given in (2).

Unfortunately, we cannot study the operator $\sup_{t>0} |P_t^{d,\mu} f|$. The reason is the following. If we first take the supremum, then we are missing the orthogonality of the spherical harmonics. Instead of this we prove

Theorem 3 Assume that $d \geq 2$, $\mu > 0$, $1 < p < \infty$, and let u be a non-negative function on $(0, 1)$, and

$$U(\phi) = u(\sin \phi/2)(\cos \phi/2)^{2\mu-\mu p} (\sin \phi/2)^{d-1-p(d/2-1/2)}.$$

If $U(\phi) \in A_p(0, \pi)$, then

$$\begin{aligned} & \left(\int_0^1 \left(\sup_{t>0} \int_{\mathbb{S}^{d-1}} |P_t^{d,\mu} f(rx')|^2 dx' \right)^{p/2} u(r) W_\mu(r) r^{d-1} dr \right)^{1/p} \\ & \leq C_{d,p,\mu,u} \|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, u(\|x\|)W_\mu(\|x\|))}. \end{aligned} \tag{3}$$

Note that the left hand side of (3) is bounded below by

$$\sup_{t>0} \|P_t^{d,\mu} f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, u(\|x\|)W_\mu(\|x\|))}$$

and above by

$$\left\| \sup_{t>0} |P_t^{d,\mu} f| \right\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, W_\mu(\|\cdot\|))},$$

therefore Theorem 3 implies Theorem 1.

The proof of Theorem 3 is contained in the next section. We will use two lemmas which will be proved in the last section.

2 Proof of Theorem 3

Replacing the index n throughout by $i = n - 2j$, we have

$$P_t^{d,\mu} f(x) = \sum_{i=0}^{\infty} \sum_{\beta=0}^{d(i)} \sum_{j=0}^{\infty} e^{-t(i+2j+\mu+\frac{d-1}{2})} a_{i+2j,j,\beta}(f) P_{i+2j,j,\beta}^{d,\mu}(x).$$

Each appropriate function defined on B^d can be written as

$$f(x) = \sum_{m=0}^{\infty} \sum_{\beta=0}^{d(m)} f_{\beta,m}(r) S_{\beta,m}(x'),$$

where $x = rx'$, with $x' \in \mathbb{S}^{d-1}$, $r \in (0, 1)$, and

$$f_{\beta,m}(r) = \int_{\mathbb{S}^{d-1}} f(rx') \overline{S_{\beta,m}(x')} d\sigma(x'). \tag{4}$$

Moreover

$$\|f\|_{L_{\text{rad}}^p L_{\text{ang}}^2(B^d, w(\|\cdot\|))}^p = \int_0^1 \left(\sum_{m=0}^{\infty} \sum_{\beta=0}^{d(m)} |f_{\beta,m}(r)|^2 \right)^{p/2} w(r) r^{d-1} dr.$$

So, from (4), it is clear that

$$P_t^{d,\mu} f(rx') = \sum_{i=0}^{\infty} \sum_{\beta=0}^{d(i)} \sum_{j=0}^{\infty} e^{-t(i+2j+\mu+\frac{d-1}{2})} b_{i,j}(f_{\beta,j}) r^j \mathcal{P}_j^{(\mu-1/2, i+\frac{d-2}{2})}(r) S_{\beta,j}(x')$$

where $\mathcal{P}_j^{(\mu-1/2, i+\frac{d-2}{2})}$ are the normalized polynomials

$$\mathcal{P}_j^{(\mu-1/2, i+\frac{d-2}{2})}(r) = (C_{i+2j,j}^{d,\mu})^{-1} p_j^{(\mu-1/2, i+\frac{d-2}{2})}(2r^2 - 1)$$

and

$$b_{i,j}(f) = \int_0^1 f(v) v^i \mathcal{P}_j^{(\mu-1/2, i+\frac{d-2}{2})}(v) W_\mu(v) v^{d-1} dv.$$

Now, for a function g defined on $(0, 1)$, we take the operator

$$P_t^{d,\mu,i} g(r) := \sum_{j=0}^{\infty} e^{-t(i+2j+\mu+\frac{d-1}{2})} b_{i,j}(g) r^i \mathcal{P}_j^{(\mu-1/2, i+\frac{d-2}{2})}(r).$$

Thus the inequality in Theorem 3 will follow from the estimate

$$\begin{aligned} & \int_0^1 \left(\sum_{i=0}^{\infty} \sum_{\beta=0}^{d(i)} \sup_{t>0} |P_t^{d,\mu,i} f_{\beta,i}(r)|^2 \right)^{p/2} u(r) W_{\mu}(r) r^{d-1} dr \\ & \leq C_{d,p,\mu,u} \int_0^1 \left(\sum_{i=0}^{\infty} \sum_{\beta=0}^{d(i)} |f_{\beta,i}(r)|^2 \right)^{p/2} u(r) W_{\mu}(r) r^{d-1} dr. \end{aligned} \tag{5}$$

The operator $P_t^{d,\mu,i}$ can be written as

$$P_t^{d,\mu,i} f(r) = \int_0^1 f(v) K_i^{\mu-1/2, \frac{d-2}{2}}(v, r) W_{\mu}(v) v^{d-1} dv$$

where

$$K_i^{a,b}(v, r) = (vr)^i \sum_{j=0}^{\infty} e^{-t(i+2j+a+b+1)} \mathcal{P}_j^{(a,i+b)}(v) \mathcal{P}_j^{(a,i+b)}(r).$$

In this manner, the proof of the inequality (5) will be a consequence of Lemmas 4 and 5. The first one shows an integral expression for the kernel $K_i^{a,b}$ and the second one provides an estimate for the integrals appearing in the first lemma.

Lemma 4 For $a, b > -1/2$ and $i \geq 0$, we have the identity

$$\begin{aligned} K_i^{a,b}(v, r) &= (vr)^i \frac{\Gamma(i+a+b+2) \sinh t}{2^{i+a+b+2} \pi \Gamma(a+1/2) \Gamma(b+i+1/2)} \\ &\times \int_{-1}^1 \int_{-1}^1 f_{i+a+b+1}(t, v, r, x, y) (1-x^2)^{a-1/2} (1-y^2)^{i+b-1/2} dx dy, \end{aligned}$$

where

$$f_{\lambda}(t, v, r, x, y) = \frac{1}{(\cosh t - x\sqrt{1-v^2}\sqrt{1-r^2} - yvr)^{\lambda+1}}.$$

Lemma 5 For $\gamma, \lambda > -1/2$ and $A > B > 0$ it is verified that

$$\int_{-1}^1 \frac{(1-x^2)^{\gamma-1/2}}{(A-Bx)^{\gamma+\lambda+1}} dx \leq \frac{\Gamma(\gamma+1/2)\Gamma(\lambda+1/2)}{\Gamma(\gamma+\lambda+1)} \frac{2^{\gamma+1/2}}{B^{\gamma+1/2}(A-B)^{\lambda+1/2}}.$$

Lemma 5 is an improved version of Lemma 5.8 in [13]. The improvement of our version lies on the control over all the constants involved in the estimate.

By Lemma 4 and applying Lemma 5 twice (firstly with $\gamma = i + b$, $\lambda = a + 1$, $A = \cosh t - x\sqrt{1 - v^2}\sqrt{1 - r^2}$, and $B = vr$, and secondly with $\gamma = a$, $\lambda = 1/2$, $A = \cosh t - vr$, and $B = \sqrt{1 - v^2}\sqrt{1 - r^2}$), we deduce the following estimate

$$K_i^{a,b}(v, r) \leq \frac{1}{2\pi} \frac{1}{(vr)^{b+1/2}(\sqrt{1 - v^2}\sqrt{1 - r^2})^{a+1/2}} \frac{\sinh t}{\cosh t - vr - \sqrt{1 - v^2}\sqrt{1 - r^2}},$$

for $a, b > -1/2$ and $i \geq 0$. Now, with the changes of variable $v = \sin \phi/2$ and $r = \sin \theta/2$ and taking the function $g_{\beta,i}(\phi) = (\sin \phi/2)^{d/2-1/2}(\cos \phi/2)^\mu f_{\beta,i}(\sin \phi/2)$, the vector-valued inequality (5) follows from

$$\begin{aligned} & \int_0^\pi \left(\sum_{i=0}^\infty \sum_{\beta=0}^{d(i)} \sup_{t>0} \left| \int_0^\pi \frac{g_{\beta,i}(\theta) \sinh t}{\cosh t - 1 + 2(\sin \frac{\phi-\theta}{4})^2} d\theta \right|^2 \right)^{p/2} U(\phi) d\phi \\ & \leq C_{d,p,\mu,u} \int_0^\pi \left(\sum_{i=0}^\infty \sum_{\beta=0}^{d(i)} |g_{\beta,i}(\phi)|^2 \right)^{p/2} U(\phi) d\phi, \end{aligned} \tag{6}$$

with $U(\phi) = (\cos \phi/2)^{2\mu-\mu p} (\sin \phi/2)^{d-1-p(d/2-1/2)} u(\sin \phi/2)$.

Finally, (6) is a consequence of the pointwise inequality

$$\sup_{t>0} \left| \int_0^\pi \frac{g(\theta) \sinh t}{\cosh t - 1 + 2(\sin \frac{\phi-\theta}{4})^2} d\theta \right| \leq CMg(\theta) \tag{7}$$

and the vector-valued inequality (1). The estimate in (7) follows by using the bounds

$$\frac{\sinh t}{\cosh t - 1 + 2(\sin \frac{\phi-\theta}{4})^2} \leq C \frac{t}{t^2 + |\phi - \theta|^2},$$

for $0 < t < T$, with $T > 1$, and

$$\frac{\sinh t}{\cosh t - 1 + 2(\sin \frac{\phi-\theta}{4})^2} \leq C,$$

for $t \geq T$.

3 Proof of Lemmas 4 and 5

Proof of Lemma 4 In order to obtain the expression for the kernel, we will apply the product formula due to Dijksma and Koornwinder [7]

$$\begin{aligned} & p_k^{(a,b)}(2v^2 - 1) p_k^{(a,b)}(2r^2 - 1) \\ & = \frac{\Gamma(a + b + 1)\Gamma(k + a + 1)\Gamma(k + b + 1)}{\pi k! \Gamma(k + a + b + 1)\Gamma(a + 1/2)\Gamma(b + 1/2)} \end{aligned}$$

$$\begin{aligned} &\times \int_{-1}^1 \int_{-1}^1 C_{2k}^{a+b+1} (x\sqrt{1-v^2}\sqrt{1-r^2} + yvr) \\ &\times (1-x^2)^{a-1/2} (1-y^2)^{b-1/2} dx dy \end{aligned}$$

valid for $a, b > -1/2$, here C_n^λ is the Gegenbauer polynomial of degree n and order λ . Thus, we have

$$\begin{aligned} K_i^{a,b}(v, r) &= \frac{\Gamma(i+a+b+1)}{2\pi\Gamma(a+1/2)\Gamma(b+i+1/2)} \\ &\times \int_{-1}^1 \int_{-1}^1 S_{i+a+b+1}(t, v, r, x, y) (1-x^2)^{a-1/2} (1-y^2)^{i+b-1/2} dx dy, \end{aligned}$$

with

$$S_\lambda(t, v, r, x, y) = \sum_{k=0}^\infty e^{-t(2k+\lambda)} (2k+\lambda) C_{2k}^\lambda (x\sqrt{1-v^2}\sqrt{1-r^2} + yvr).$$

Now recall the identity [1, 1.27]

$$\sum_{n=0}^\infty (n+\lambda) C_n^\lambda(x) z^n = \frac{\lambda(1-z^2)}{(1-2xz+z^2)^{\lambda+1}}, \quad |z| < 1, \lambda > 0.$$

On the other hand, note that Gegenbauer polynomials of even (respectively, odd) orders are even (respectively, odd) functions. Hence, we get

$$S_\lambda(t, v, r, x, y) = \frac{\lambda \sinh t}{2^{\lambda+1}} (f_\lambda(t, v, r, x, y) + f_\lambda(t, v, r, -x, -y)).$$

By the symmetry of the integrals defining $K_j^{a,b}$, we conclude that

$$\begin{aligned} K_i^{a,b}(v, r) &= \frac{\Gamma(i+a+b+2) \sinh t}{2^{i+a+b+2} \pi \Gamma(a+1/2) \Gamma(b+i+1/2)} \\ &\times \int_{-1}^1 \int_{-1}^1 f_{i+a+b+1}(t, v, r, x, y) (1-x^2)^{a-1/2} (1-y^2)^{i+b-1/2} dx dy. \end{aligned}$$

□

Proof of Lemma 5 Denote

$$I_{\gamma,\lambda} = \int_{-1}^1 \frac{(1-x^2)^{\gamma-1/2}}{(A-Bx)^{\gamma+\lambda+1}} dx.$$

We have

$$I_{\gamma,\lambda} \leq 2 \int_0^1 \frac{(1-x^2)^{\gamma-1/2}}{(A-Bx)^{\gamma+\lambda+1}} dx \leq 2^{\gamma+\frac{1}{2}} \int_0^1 \frac{(1-x)^{\gamma-1/2}}{(A-Bx)^{\gamma+\lambda+1}} dx.$$

With the change of variable $1 - x = t$, we obtain

$$\begin{aligned} I_{\gamma,\lambda} &\leq 2^{\gamma+1/2} \int_0^1 \frac{t^{\gamma-1/2}}{(A - B + Bt)^{\gamma+\lambda+1}} dt \\ &= \frac{2^{\gamma+1/2}}{(A - B)^{\gamma+\lambda+1}} \int_0^1 \frac{t^{\gamma-1/2}}{\left(1 + \frac{B}{A-B}t\right)^{\gamma+\lambda+1}} dt. \end{aligned}$$

Finally, we conclude with the change of variable $\frac{B}{A-B}t = z$. Indeed,

$$\begin{aligned} I_{\gamma,\lambda} &\leq \frac{2^{\gamma+1/2}}{B^{\gamma+1/2}(A - B)^{\lambda+1/2}} \int_0^{\frac{A-B}{A}} \frac{z^{\gamma-1/2}}{(1 + z)^{\gamma+\lambda+1}} dz \\ &\leq \frac{2^{\gamma+1/2}}{B^{\gamma+1/2}(A - B)^{\lambda+1/2}} \int_0^\infty \frac{z^{\gamma-1/2}}{(1 + z)^{\gamma+\lambda+1}} dz \\ &= \frac{2^{\gamma+1/2}}{B^{\gamma+1/2}(A - B)^{\lambda+1/2}} \frac{\Gamma(\gamma + 1/2)\Gamma(\lambda + 1/2)}{\Gamma(\gamma + \lambda + 1)}. \quad \square \end{aligned}$$

References

1. Askey, R.: *Orthogonal Polynomials and Special Functions*. Society for Industrial and Applied Mathematics, Philadelphia (1975)
2. Balodis, P., Córdoba, A.: The convergence of multidimensional Fourier-Bessel series. *J. Anal. Math.* **77**, 269–286 (1999)
3. Caffarelli, L.A., Calderón, C.P.: On Abel summability of multiple Jacobi series. *Colloq. Math.* **30**, 277–288 (1974)
4. Carbery, A., Romera, E., Soria, F.: Radial weights and mixed norm inequalities for the disc multiplier. *J. Funct. Anal.* **109**, 52–75 (1992)
5. Córdoba, A.: The disc multiplier. *Duke Math. J.* **58**, 21–29 (1989)
6. Dai, F., Xu, Y.: Boundedness of projection operators and Cesàro means in weighted L^p space on the unit sphere. *Trans. Am. Math. Soc.* **361**, 3189–3221 (2009)
7. Dijksma, A., Koornwinder, T.K.: Spherical harmonics and the product of two Jacobi polynomials. *Indag. Math.* **33**, 171–196 (1971)
8. Dunkl, C.F., Xu, Y.: *Orthogonal Polynomials of Several Variables*. Cambridge University Press, Cambridge (2001)
9. Duoandioetxea, J., Moyua, A., Oruetebarria, O., Seijo, E.: Radial A_p weights with applications to the disc multiplier and the Bochner-Riesz operators. *Indiana Univ. Math. J.* **57**, 1261–1281 (2008)
10. Mockenhaupt, G.: On radial weights for the spherical summation operator. *J. Funct. Anal.* **91**, 174–181 (1990)
11. Nowak, A., Sjögren, P.: Riesz transforms for Jacobi expansions. *J. Anal. Math.* **104**, 341–369 (2008)
12. Nowak, A., Sjögren, P.: Calderón-Zygmund operators related to Jacobi expansions. *J. Fourier Anal. Appl.* **18**, 717–749 (2012)
13. Nowak, A., Stempak, K.: Riesz transforms for multi-dimensional Laguerre function expansions. *Adv. Math.* **215**, 642–678 (2007)
14. Rubio de Francia, J.L.: Transference principles for radial multipliers. *Duke Math. J.* **58**, 1–19 (1989)
15. Wade, J.: Cesàro summability of Fourier orthogonal expansions on the cylinder. *J. Math. Anal. Appl.* **402**, 446–452 (2013)
16. Xu, Y.: Fourier series and approximation on hexagonal and triangular domains. *Constr. Approx.* **31**, 115–138 (2010)
17. zu Castell, W., Filbir, F., Xu, Y.: Cesàro means of Jacobi expansions on the parabolic biangle. *J. Approx. Theory* **159**, 167–179 (2009)